Draw Accurately

Due to printer variations, children’s measurements may vary slightly from answers given.

1.B

2. A-1cm 8mm;

B - a line longer than 1Tcm 8mm and shorter than 7cm 4mm (longer than the
measurement of A and shorter than the measurement of C);

C-7cm4mm;

D - a line longer than 7cm 4mm and shorter than 9cm 2mm (longer than the
measurement of C and shorter than the measurement of E);

E-9cm 2mm

3. Jack is incorrect because one of his lines is 2cm 8mm.

cissre) (D) visit Kids.classroomsecrets.co.uk for online games to support learning.
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